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B.Com. DEGREE EXAMINATION —  

JUNE, 2012. 

Third Year 

Accounting and Finance 

INCOME TAX 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. What is agricultural income? Explain. 

 ÷ÁÍõs Á¸©õÚ® GßÓõÀ GßÚ? ÂÁ›. 

2. Explain the rules regarding calculation of value of 

rent free house. 

 ÁõhøP°À»õu Ãmk Á\v°ß ©v¨ø£ PnUQk® 
ÂvPøÍ ÂÍUSP. 

3. Give the professional expenses of doctors eligible 

for deductions. 

 ©¸zxÁºPÒ PÈ¨£uØS AÝ©vUP¨£mh 
öuõÈÀ\õº¢u ö\»ÄPøÍ TÖP. 
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4. Explain any four deductions to be allowed out of 

gross total income. 

 ö©õzu Á¸©õÚzv¼¸¢x PÈ¨£uØS® 

AÝ©vUP¨£mh GøÁ÷¯Ý® |õßQøÚ¨ £ØÔ 

ÂÍUSP. 

5. From the following information compute the 

income from other sources for the assessment year 

2011-12. 

  Rs. 

(a) Card games loss 12,000 

(b) From the activity of  

 owning and maintaining horses   

 for race purposes :  

 (i) Loss at Bombay 40,000 

 (ii) Profit at Bangalore 20,000 

(c) Dividend (gross) from  

 Indian companies 6,000 

(d) Betting in horse races  4,000 
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 RÌUPõq® ÂÁµ[PÎ¼¸¢x Á› PnUQk® Bsk 

2011&12 BskUPõÚ Cuµ ‰»[PÎß Á¸©õÚzøu 

PnUQhÄ®. 

  ¹. 

(A) ^mk ÂøÍ¯õmk |mh® 12,000 

(B) SvøµPÒ £¢u¯zvØPõP  

 ö\õ¢u©õP øÁzx   

 £µõ©›zu»õÀ :  

 (i) £®£õ°À |mh® 40,000 

 (ii) ö£[PÑ›À C»õ£® 20,000 

(C) C¢v¯ {Ö©zvÀ £[Põuõ¯®  

 (ö©õzu®) 6,000 

(D) Svøµ £¢u¯zvÀ £¢u¯ öuõøP Pmi¯x 4,000 

PART B —  (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Explain any ten incomes exempted from tax. 

 GøÁ÷¯Ý® £zx Á›Â»US ö£ØÓ Á¸©õÚ[PÒ 
£ØÔ ÂÍUSP. 
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7. Ms. Durga is an executive in Bangalore. For the 

P.Y. 2010-11. She furnished the following 

particulars of her receipts and payments : 

 Rs. 

Basic salary 60,000 

Contribution to RPF 12,000 

Income tax deducted at source 8,000 

Employer’s contribution to  

RPF 9,000 

Interest on RPF credited at 14% 28,000 

Conveyance allowance 6,000 

House rent allowance  

(rent paid Rs. 8,600) 12,000 

 Company provided 1.6 ltr car with driver for 

personal and official use. Expenses met by Durga. 

Compute her salary income. 

 ö\ÀÂ xºPõ Gß£Áº ö£[PÑ›À J¸ {Ö©zvÀ 
AvPõ›¯õP EÒÍõº. 2010&11 •¢øu¯ BsiÀ 
AÁµx Á¸©õÚ® ©ØÖ® ö\»ÄPøÍ R÷Ç  
u¢xÒÍõº : 

 ¹. 

Ai¨£øh \®£Í® 60,000 

÷\© |» {v°À ö\¾zv¯x 12,000 

Á¸©õÚ Á› ¤izu® 8,000 
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 ¹. 

÷\© |» {vUS •u»õÎ°ß  

ö\¾zxøP 9,000 

A[RP›zu ÷\© |» {v°À Ámi 14% 28,000 

£¯n¨£i 6,000 

Ãmk ÁõhøP¨£i  

(ÁõhøP ö\¾zv¯x ¹. 8,600) 12,000 

 AÁ¸US {ÖÁÚ® 1.6 ¼mhº \Uv²ÒÍ Põøµ 
Kmk|¸hß AÎzxÒÍx. Ax AÁµx ö\õ¢u ©ØÖ® 
A¾Á»P¨ £oUS £¯ß£kQÓx. ö\»ÄPÒ 
AøÚzøu²® xºPõ HØÖU öPõÒQÓõº. AÁµx \®£Í 
Á¸©õÚzøu PnUQkP. 

8. Mr. Vasan is the owner of two houses and he 

furnished the following particulars, compute his 

income from house property. 

 House A House B 

 Rs. Rs. 

Municipal valuation 7,20,000 12,00,000 

Actual rent received 6,00,000 12,00,000 

Municipal taxes paid 72,000 60,000 

Ground rent 2,000 15,600 

Interest on loan   

taken for construction 1,00,000 3,64,000 
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 v¸. Áõ\ß Gß£Áº Cµsk ÃkPÐUS ö\õ¢uUPõµº. 
RÌUPõq® ÂÁµ[PøÍU öPõsk, AÁµx Ãmk 
ÁõhøP Á¸©õÚzøu PnUQkP. 

 Ãk ‘A’ Ãk ‘B’ 

 ¹. ¹. 

|Pµõm] ÁõhøP ©v¨¦ 7,20,000 12,00,000 

ö£ØÓ ÁõhøP 6,00,000 12,00,000 

|Pµõm] Á›PÒ ö\¾zv¯x 72,000 60,000 

uøµ ÁõhøP 2,000 15,600 

ÃmkUPhß «uõÚ   

Ámi 1,00,000 3,64,000 

9. Mr. Anish gives you the following particulars from 

his accounts for the year ended 31.3.2011 : 

 Rs. 

Net profit as per P & L a/c   

(without charging the following items) 2,75,000 

Expenditure on family planning 45,000 

Lump sum consideration for  

purchase of technical know-how  

developed in government laboratory 90,000 

Entertainment expenditure 30,000 
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 Rs. 

Expenditure on acquisition of  

patent right 84,000 

Expenditure on advertisement  

paid in cash 18,000 

Provision for excise duty 45,000 

 (He paid Rs. 20,000 on 27.6.2011 and Rs. 7,000 on 

10.11.2011. Due date of filing of return is 

31.7.2011). 

 Amount paid to Madras University for an 

approved research programme in the field of social 

sciences not connected with his business Rs. 20,000 

 Compute his business profit for the year ending 

31.3.2011. 

 v¸. AÛè Gß£Áº 31.3.2011&À •i²® 
PnU÷PkPÎ¼¸¢x RÌUPõq® ÂÁµ[PøÍ 
u¸QÓõº : 

 ¹. 

C»õ£ |mhU PnUQß£i {Pµ C»õ£®  

(RÌUPõq® ö\»ÄPÒ PÈUP¨£hÂÀø») 2,75,000 

Sk®£ Pmk¨£õmkUPõÚ ö\»ÄPÒ 45,000 

Aµ_ ÷\õuøÚU ThzvÀ E¸ÁõUP¨£mh  

öuõÈ~m£ AÔÄ ö£ØÓuØS ö©õzu©õP  
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 ¹. 

ö\¾zv¯ öuõøP 90,000 

ö£õÊx÷£õUS ö\»ÄPÒ 30,000 

Põ¨¦›ø© ö£Ó ö\»Ä ö\´ux 84,000 

ÂÍ®£µ ö\»Ä öµõUP©õP ö\¾zv¯x 18,000 

_[P Á› Põ¨¦ 45,000 

 (AÁº ¹. 20,000&® 27.6.2011 AßÖ® ¹. 7,000&® 
10.11.2011 AßÖ® ö\¾zvÚõº. Á¸©õÚ Á›¨ 
£iÁ® \©º¨¤¨£uØPõÚ CÖv |õÒ 31.7.2011). 

 AÝ©vUP¨£mh \‰P AÔÂ¯À xøÓ°À Bµõ´a] 
vmhzvØS (öuõÈÀ \õº¢ux AÀ»). ö\ßøÚ 
£ÀPø»U PÇPzvØS ö\¾zv¯ öuõøP ¹. 20,000 

 31.3.2011&À •i²® BsiØS AÁµx öuõÈÀ 
C»õ£zøu PnUQkP. 

10. From the following particulars, compute the total 

income of Mr. Ram for the assessment year  

2011-12 : 

  Rs. 

(a) Machinery purchased   

 in 1999 at a cost of  5,00,000 

 Depreciation allowed from  

 1.1.1999 to 31.3.2010 3,00,000 

 Sale price of machinery on 30.6.2010 7,00,000 
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  Rs. 

(b) Sale price of commercial  

   building purchased  

    in 1983-84 (C.I.I.-116)  

   at a cost of Rs. 20,000 and   

   cost of improvements made in  

   1985-86 (C.I.I.–113) Rs. 20,000 2,80,000 

(c) Business income 1,00,000 

   Cost inflation index for   

   2010-11 is 711  

 RÌUPõq® ÂÁµ[PøÍU öPõsk v¸. µõ® 
Gß£Áµx 2011&12® BskUPõÚ ö©õzu 
Á¸©õÚzøu PnUQkP. 

  ¹. 

(A) 1999&® Bsk C¯¢vµ® Áõ[Q¯x   

 AhUPÂø» 5,00,000 

 1.1.1999 •uÀ 31.3.2010 Áøµ   

 ÷u´©õÚ® AÝ©vzux 3,00,000 

 30.6.2010 AßÖ C¯¢vµzvß  ÂØ£øÚ 
Âø» 

7,00,000 

(B) 1983&84  (C.I.I.-116)&À ¹. 20,000&US   

  Áõ[Q¯ ÁoP ÁÍõPzvß  
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  ¹. 

  ÂØ£øÚ Âø» 1985&86 AßÖ   

 ÷©®£kzxuÀ ö\»Ä  (C.I.I.–113) ¹. 20,000  

   ÂØ£øÚ Âø» 2,80,000 

(C) ÁoP Á¸©õÚ® 1,00,000 

 Âø» E´Ä ¦ÒÎ 2010&11&®   

 BskUS 711  

11. Compute income from the other sources from the 

particulars given below. 

  Rs. 

(a) Interest on deposits  

 with a company 10,000 

(b) University remuneration on  

 working as examiner 6,000 

(c) Royalty for writing books  

 He claims to have spent  

 Rs. 20,000 on writing these books 60,000 

(d) Dividend declared by  

 R & Co. on 1.3.2011  

 but paid on 1.5.2011 6,000 

(e) Stake money on race horses 1,50,000 
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  Rs. 

 Horses are maintained by him  

 and expenses on maintenance  

 of these horses are 2,40,000 

(f) Interim dividend paid 3,000 

(g) Family pension received 36,000 

 RÌUPõq® ÂÁµ[PøÍU öPõsk Cuµ CÚ[PÒ 
‰»©õÚ Á¸©õÚzøu PnUQkP : 

  ¹. 

(A) {Ö© øÁ¨¦PÎ¼¸¢x   

 ö£ØÓ Ámi 10,000 

(B) £ÀPø»U PÇPzvÀ ÷uºÁõÍµõP   

 £o¯õØÔ¯uß Á¸©õÚ® 6,000 

(C) ¦zuP[PÒ GÊv¯vß 

E›ø©zöuõøP 

60,000 

 ¦zuP[PÒ GÊxÁuØS ö\»Ä 

ö\´ux ¹. 20,000 

 

(D) 1.3.2011 AßÖ  R & ÷Põ AÔÂzu   

 £[Põuõ¯® 1.5.2011 AßÖ  

 ö\¾zu¨£mhx 6,000 
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  ¹. 

(E) Svøµ £¢u¯zvß £¢u¯ öuõøP 1,50,000 

 SvøµPøÍ AÁº £µõ©›UQÓõº  

 A¢u SvøµPøÍ £µõ©›¨£uØPõÚ  

 ö\»ÄPÒ 2,40,000 

(F) CøhUPõ» £[Põuõ¯® ö\¾zv¯x 3,000 

(G) Sk®£ K´Åv¯® ö£ØÓx 36,000 

12. Explain the procedure for computation of gross 

total income and taxable income of individuals. 

 uÛ|£›ß ö©õzu Á¸©õÚzøu²® Á› Âv¨¤ØPõÚ 
Á¸©õÚzøu²® PnUQk® •øÓø¯ ÂÍUSP. 

——––––––––– 


